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PART - 1/ Y171 - |

CHILD DEVELOPMENT AND PEDAGOGY | a1d feprar 3 Rreremmesy
DJ - tion : Answer the following questions (Q. Nos. 1 to 30)_ by selecting the correct/most g
irection :

frder : Frefafad gt (7. 9&T 1 230) F IR F

1. Jean Piaget perceives __———

R vt e s e

to be ______.___ Lev-Vygotsky believes

to be

: itive mmahﬁiff? egocentric speech, effective in self-regulation
i ch, a sign of cogni L
. s 1f ﬁo“‘ﬁ%g;cen&ic speech, a sign of itive immaturi
ive i ~reguadon; , a sign of co ve immaturi
(2) Private speech, effective in S€i-t gul K. p gn of cogni .
(3) Egocentric speech, a sign of cognitive immatutity; private speech, effective in self-regulation
(4) Egocentric speech, effective in self-regulation; private speech, a sign of cognitive immaturity
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2. In an inclusive classroom the teacher :

' it varied needs of children.
(1) Modifies the curriculum and pedagogical strategies to suit varied ne

- etitive spirit,
(2) Tries to encourage children to do better by promoting comp p

(3) Identifies “deficits’ in children and co rrectly labels them.

(4) Segregates children based on gifferin g aca:_dﬂf?ic capabilities.
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An example of ‘class inclusion’ :

Assertion (A) : Lokesh has trouble with classn._l'—ymg one concept (Delhi) as a subset of another

(India). B

Reason (R) : Understanding how emotlﬁrls affect memory and learning ¢
regulated learning. e

an lead to self-

Choose the correct option.

(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false. cC

(3) Both (A) and (R) are true and (R) is the’ tg:rect explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
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Which of the following is an example of a question t promotes analytical thinking ?
(1) Which factors contributed to the outbreza\lstéif or]d War II ?

(2) Who was the leader of Germany duri __:_:.'.'*m- War II ?

(3) In which year did World War Il end 2% e
(4) Which countries were directly involvedin
e 1 2 2 1 R o S & S g
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5. Which of the following is an example of a performance goal orientation ?
(1) A student studies hard to learn as much as possible from the teacher.
(2) A student studies hard to further her ow1 growth.
(3) A student studies hard to achieve a deep-understanding of a topic.

(4) A student studies hard to get a good gﬂffe and be better than others.
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6.  Assertion (A) : Inan inclusive classroom, all curriculum adaptations should be directed to lower
the educational standards for ‘Special children’.
Reason (R) :  “Special children’ do not have any potential for learning in mainstream classroom.
Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false. Y
(3) Both (A) and (R) are true and (R) is the dorrect explanation of (A).

the correct explanation of (A).
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(4) Both (A) and (R) are true but (R) is riok t
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7.  Howard Gardner’s theory of multiple Mteﬂigeﬁce proposes that :
(1) Intelligence can be measureq accuratély and predicated precisely.
(2) Intelligence can successfully predict academic success.
(3) Intelligences change over Hftie iy
(4) Intelligence is primarily inherited. 7 ¢
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10.

P-IT (MR

While pmposing the relati - age
ati i 1 '
lized ] O/Ilshl:.p between anguage ati

(1) hinderance to the development of cognitive abilities.
(2) Independent domain which is not related to;c:aémtm
(3)  cultural tool which facilitates cognition in miltiple ways.
(4) form of egocentric speech used to only ﬁxlfﬂlbaélc needs.
w1 R T W ¥ A e e T g, A 3 Frferfiaa # @ fFE &I H &
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Changes in emotion, self-perception and interpersonal relationships with families, peers and friends
are studied under domain of development.
(1) Linguistic (2) Psycho-social ~ (3) - Physical (4) Cognitive
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Assertion (A) : Creating an environment of fear-and stress keeps students ‘on their’ toes and
facilitates meaningful learning. =

Reason (R) :  Learning is governed only by extrinsic factors.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (4).

(4) Both (A) and (R) are true but (R) is not the Fo_f-ﬁfﬂ explanation of (A).
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11. A teacherw
ants to enable meanmgful and analytical learning in h
for students to connect their prior knowledge to new concgepts e%?rscshbgfptli?: lfilllllg oPPOrtunitieg
Ong teachip
. g

strategies would be most effective ?

(1) Ask students eﬁf)ef
to share their own iences rela
thietn to HIOHIE E related to the new material and then connecy

(2) Providing students with by-&ﬁ? gll w m
a step- d
nhie P ide on ho to co plete a task related to the new

(3) Lecturing on new material i
(4) Assign sfudents to read &eﬁiiﬁ@%fpi:izmﬁe: :z:::j;:j :: rﬂTs iy
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12. Ten year old Kakuh is stru 1m v M
: g8 g w1ﬂm:d1ff1c111t math problem What can her teacher do to

enhance her problem-solving skills ? .
(1) Encourage her to keep trying andseﬁer scaffoldmg when needed

(2) Give severe punishment so that it is ‘s@t repeated in future
(3) Give her the solution to the problefe

(4) Tell her to skip the problem and ngqi;e on to th
mwﬂﬁrﬁﬁﬁm%@wmﬁ@@%l
fofrept #N A THA &2

1) e 3 e % ferg <8 st L SR TEW
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(3) 9 GEE F A 4
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(4)
to
13. - Fiza analyzes that she has more problem_gy learning topic X ﬂlavlv‘hlillllei?lﬂu:f follo
is interested in topic Z and is paying fstused attention to it
describes Fiza's abilities to analyze her tﬁrﬂ(mg ? o Memory
(3) Metacognition *)
% apiifep o T 2

(1) Cognition (2) Cognitive qer;ﬁlct et
3 fawa X €@ ":T_ s frearao FH

e next one
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. Which of the followings
(1) To provide feedback t€

(2) To identify the areas where

(3) To give students the oppor

@ To identify the attitude patte .
their needs.
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18. Assertion (A) : 12-year Amana gets scared every time the teacher asks her to answer or solve the
maths problem on the blackboard because she fears that the teacher will scolq

her and she would be embarrassed.

Reason (R) : When students feel unsafe and anxious their learning is adversely affected.
Choose the correct option. __1;5

(1)  (A) is true but (R) is false. e

(2) Both (A) and (R) are false. J_;Ei‘

(3) Both (A) and (R) are true and (R) 1S ﬁ1e correct explanation of (A).

(4) Both (A) and (R) are true but (R) ;;fmt the correct explanation of (A).

s (A) : E

éﬁmwaﬂ%%mm&mﬁ%aﬁm%ﬁﬁﬁwaﬁsﬁ?ﬂ 3R =7 wfifey anft)
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19. Which of these statements would advo&éi‘é& of progressive education agree with ?
(1) Children are born in a social, cult—ural economic context and this background influences
their development.

(2) Children are a distinct life-stage that hold importance because
as adults’ rather than ‘what they are as children’.

(3) Children are naturally ‘good’ and society corrupts them.

of ‘what they would become

man
(4) Children are naturally * u.ncwlhzed’ and socialization is necessary to make them moral hu

beings. R
wﬁﬁaﬁrﬁﬁ?ﬁwmﬁsﬂﬁﬂmw#mm7
1) . gufaa Tt ¢
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20. You are a teacher who wants to enc

. of the following strategies is most | Ourage your students to

ikely to foster this type of thmkm
(1) Giving students multiple-choice tests to assess their knowledge.

(2) Lecturing on the topic and providing students with detailed notes. b

(3) Assigning a project in which students must memorize and present info mat

(4) Providing students with open-ended quesh;m to come up with their own solut
919 T T & S o I R sei st w9 8 dre % fo s 3
fieffem 3 & 7 T TFif 5 v ) e ) e 3 1w S H 87
mﬁlmaﬁmaﬂwwmm

hallenged, teachers should use




23.

24.

25.

——~

Followi.ng Lev Vygotsky’s ideas, a teacher should :

(1)  encourage students to compete with each other.

(2)  practice reciprocal teaching with her students.

(3)  discourage the use of cultural tools by students.

(4) disseminate the knowledge to be memorized by the students.

& it 3 famia 1 9T HH g8 b e 1

(1) ﬁmﬁw@%mmw#mmmaﬂ%m

2 mﬁﬁmfﬁ%mawmﬁmmmwmaﬁm
(3) P T Wit Sl 3 S ) e H =
(4) faenfefai gro shewy fohg ST ot I 1 FHR ST =M |

" Which of the following are effective strategies to teach new concepts ?

(1) Presenting examples

(ii) Presenting non-examples
(iii) Promoting thinking about relaﬁonShips amongst concepts.

(iv) Giving a definition and encouragmg students to rote memorize it.
1) @), @), @) (2 (), (W)*_(l)’“; G ) @ 4)
as‘amwnaﬁﬁua?rﬁ;mﬁﬁﬂ%iﬁﬁ 3 S G e OEIET © 2

() SarRT gEd S
@) TR-SIR FEA ST
(iii) mwnaﬁ#ﬁaﬁ#ﬁ%aﬁﬁ@aﬁmém

(iv) @qﬁmmamaﬁtmﬁaﬂs@maﬂ%%ﬁmmamr

(1) (@), @), i) (2) (i), (iV)%A___(i)‘_iﬁ (3) (@) @)

(1), (i)

(4) () (i)

gnitive development as :
effective adoption to the environment

52)
L@

Lev Vygotsky views €O process

(1) a unified process
(3) a collaborative process

an individual activity

awﬁ?ﬁﬁmﬁasmﬁﬁﬂ‘wﬂ?aﬁﬁ%?
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26. Which of the following

- sieel 4 ory is correct ?
(1) It presents conflic about Lawrence Kohlberg's theory

: ting situations to chj

(2) It takes into accountgeffects of cultucrzﬂacif;l‘g.ender on moral reasoning.

(3) It does not specify exact stages for progression of moral development in children.
(4)‘ It is based on t‘he study done through exﬁﬁ%:%lental methods.
WW#W%ﬁﬁWﬁ@ﬁ%waﬁ%?
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! 27.  Which of the following is an example of assessment for student’s learning ?
(1) A standardized test used to compare students across the country.

(2) A rubric given to students at the beginning of a project, outlining what they need to do to
achieve a certain grade.

(3) A final exam that covers all the material learned throughout the term.

(4) A quiz and brainstorming at the beginning of class to check for prior knowledge.

o 9 @ i ferenffi § diem ¥ fo sthem 1 5 TR @7

(1) 39 R ¥ o W go F T T A T
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28. Assertion (A) : As compared to boys, girls haveig:m innate tendency to be affected more by social
and cultural factors. = A
Reason (R) :  Girls are genetically more sensitive and emotionally
more likely for them to conform to societal expecta
Choose the correct option.
(1) (A) is true but (R) is f?lsls.
(2) Both (A) and (R) are faise. .
(3) Both t A; and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is P;t tl;:%g?rrect explanation of (A).
a): el = g H e § T R St a3 sty gt a9 9
FRT (R) : @mymﬂdﬁﬁmﬂi A ﬁi:njﬁa;w ' R WIETTF ®9 ¥ FAER
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weaker than boys, making it
tions.
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29.  As per Jean Piaget's theory of Cognitive Development :

(1) Memorization should be prioritized over learning through experience.

(2) Previous knowledge doesn’t play any role in the process of learning.
™

(3) Biological factors such as maturatien don’t play any role in cognitive development.

B
(4) Learning experiences depend orﬁéﬁéldren's current level of cognitive functioning,

it ot 35 ST o 3 g S5 e -

(1) ST % T & Wt 35 g e e Y S < e < e e

) qﬁmﬁaﬁﬁuﬁmﬁﬁéﬁh;l;ﬁﬁw%l
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(4) WG F Agva = F HAHEF Grash F THuE W T R a5 §

30. The behaviours, interests, attitudes, sklﬂs and ersonality tr
’ ts
for specific gender are referred to as‘_ 2 and t:::re TR i

(1) Gender identity; culturally defme__
(2) Gender identity; genetically determmed
(3) Gender roles; culturally defmed

(4) Gender roles; genetically determined
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prr (MR - G



Candidates have to do questions 31 to 90 EITHER from Part - 11 (Mathematics and Science) OR fron:
Part - III (Social Studies / Social Scie TR 3TETaT qrar e
griemrefar & gy 31 90 7 &t W7 - 11 ( nfor 7 fgrr ) A W - 1L ( 4

fasm) @ & &

e

IMPORTANT | wgvaqof

nce).

PART - L9 - II
MATHEMATICS AND SCIENCE / TIforal @ fasm=

Direction : Answer the following questions by selecﬁ}jzi‘he correct/most appropriate options.

Faer : FTETfeirad el 3 ST a7 % fore st mar Gudant faded 9rg

31.

32.

33:

In a pentagon ABCDE, ZA=(2z+9), Q8= (2x+1°), £C=(22-1°), £D=(2x+5°) and
£E=(2x—4°). Then, value of (2x+10°) is: £ ¢

f¥l 99YS ABCDE #'; ZA=(2x+9°), zé=(2x+1°), /C=(2x-1°), £D=(2x+5°) ST
ZE=(2x—4°) B 199, 2x+10°) F AR ¥
(1) 118° 2 124° @) 114° 4) 116°

The two corresponding angles formed by the intersection of two parallel lines by a transversal are
(3x—20°) and (5x—60°). Then, the value of (4x+30°) is :

ferelt foder g1 <1 Wik et % wfasded | #L.3 6ma F07 (3x—20°) 3R (5x— 60°) €1 9, (4x +30°)
<hl HH % : i
1) 130° (2) 150° 43) 90° @  110°

Which of the following is used to record stt;
and experimentation ability ?
(1) Anecdotal Record (2) { Teacher Diary

(3) Cumulative Record (4) P*Réport Card

Frtferfier & feberehn Sweim forenfeal  FHe-SFAIMTT <t e, W 39 Aveen, weivmrers v e
1 T Tt 3 ferg fo T €2

(1) v (2 Foes s
(@) G e (4) frad =

SPACE FOR ROUGH WORK /T %14 % forg g
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i'_’\h {
i

f
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A nine-digit number 565x9274y is divisible by number 88. Then, the value of (2x+3y) is :

T -siFT TN 56519274y, HEA 88 H FAvA ¥1 7@, (2x +3y) FI A e
(1) 24 (2) 022 (4) 25

If x=k, is the solution of the equation :

x—4 =% X £z A
= =—3—+x , then what is the value,




37. Many occupations such as accountancy, banking, shop-keeping, tailoring etc. requires IRLEMEERS
directly or indirectly, This is an explanation of value of Mathematics.
(1) Utilitarian (2) Professional (3) Disciplinary (4) Cultural
T R S o e (- fa), S, g, faer 1 g & v 71 s €9
8 TR S ST e ¥ 17 v . T F S
1) SuafimEE (2) =EEgs 0 (3) fawares (4) wiEpfa
38. Ois a point on line AB. Rays OC and Ob_are drawn on the same side of AB such that OC L OD,
ZAOC=x and ZBOD=3x. Then, ZBOD:is equal to :
@1 ABR feer O ww fifg 31 AB % w @ ik 31 firedt OC #iOD 29 yehR @i T ¥ fF OC LOD %,
£AOC=x 3R /BOD=3x ¥ 7@, ZBOD 5T # :
o 10 "[O o
(1) 60 @ 6~ i @4) 45
39. The value of 31096 + (2704 +2) + 0.6738 0:63 +0.059—0.79 is equal to :
31096 + (2704 + 2) +0.6738 + 0.63 +0.059 =0.79 1 HF S ¥ :
(1) 24.6728 (2) 24.5728 == (3) 23.6728 (4) 23.5728
Fmi _7 — 1
40. Which of the following rational numberifL e between BT and e ?
. & —7 =1 ﬁ_ : .
o1 & § @i wfea demd o 3R - & ot ferd 92
B2 #r
W= g7s" 5
=3 -1
1)) W
15
prr [N |

- —




~ 41.  Ifxisthe smallest number which is to be subtracte

d from 2605 to make it a perfect Square, the, e
value of (4x+7)is:

r,_Imx“wmtmzeosﬁﬂzﬁmaﬁ@;fﬁmw%,?h(4x+7)$rm=r%:

(3 27 @ aEmEr g fj;i (4 23

LW IS,

ah article is % 750, It is 5ol for 7 608 by givin
on its marked price, then what w

42.  The cost price of g 24% discount On its marked price,
Had it been solq ould have been the profit percent ?

T e 2 75 %l%ﬁﬁsﬂﬁa‘ﬁw 24% B 92 32 608 4 ey 1y IR agH
. W‘lﬁmmmmmmmm?

BS=(¥=1) cn 2 7,

SPACE Fogr ROUGH WORK /3% & fer v .

21463
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44.

45.

‘—-_____

21463832
A solid cube of

between the tc:.';cj i?e 12 em is cut into small solid cubes of side 4 cm each. What will be the relatioﬂ
cubes so formeda? surface areaof the original cube and the new total surface area of the sma

'.‘ e
AW

1) Ne h- <l
@) W total surface area Wlll,b&‘sa of the original total surface area.
By

A
(2)  New total surface area Wﬂl%‘éhﬂmce the original total surface area.

£ 5 3

Tt bt

(3) New total surface area w111;;b§;§ of the original total surface area.

LT
e

(4) New total surface area MHE%ice the original total surface area.

12cmwaﬁwmmﬁa%mwﬁmw%,ﬁﬁﬁmﬁgm4cm%l TR =1 %
Fd gy memaﬁm@ﬁﬁ%mmm%ﬁhwﬁéaM?

(1) wwmwmgﬁq@a CELTE D % R

bt

() N FA TR Ak YR TS & R @) s

=
e
Fe

&

(3) TN FE TS &A% WK %EWWW%@W‘

%
St
£

The distance between the parallel sides AB and CD of 3

apeziu
CD=24 cm and AD=BC=13 cm, then area of the trapeziym fin C‘El lf;\?SC.D

- ABCD F THE syl ABaﬂTCD%EﬁHﬁ@ 12
Tj:fw cm ¥, T 39 qACE gord (ecm?H) fre ¢ . Rl ABSCDI ED-Mcn ]

is 12 cm. If AB<CD,

A, 3) 123
(1) 247 B B e @ 114
GHWORK /s o i—
SPACE FOR RO /TH ¥ % o g

o)

17
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49. On the basis of the information given in the statement, which of the suggested course of act
logically follows ?

. : : - nsuration.
Statement : Anamika does conceptual error while solving problems on mMe

Course of Action :

(I)  Teacher gives a lot of hands-on and visual practice to Anamika.

(I) Teacher provides the scope of discussion while giving open-ended questions.
Choose the correct option. |

(1) Neither course of action (I) ﬁb: course of action (II)

(2) Both course of action (T) an&___(II)

(3) Only course of action (I)

(4) Only course of action (IT)

o B & T TR 6 SER T, ﬁﬁ@ﬁﬁmﬁmﬁﬁmﬁmm%?
A : aﬁﬁwﬁﬁwmmmﬂmmmzﬁm%l

M) mmﬁmﬁra@aﬁwﬁaﬂimammmﬁﬁmﬁﬁl
(11) ForfeaeT el TR ATl FeT S ¥ 39T YeH Hl ¢l

s

) qamﬁ(l)aﬂxaﬁwﬁ;m)

(2) e (1) 3T (1) SR

(3) e HHa ()

(4) Had FEAE (1)

SPACE FOR ROUGH WORK / 1% w1 & feu e

P-IL (AWM -
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54.

55.

56.

(1) Heuristic Method (2) Group Discussion Method

(3) Problem solving Method (4) - Lecture Method

Pt & & 4 < for e = v - fofe 32
(1) =@ Ny (Fhfes) fafy )¢ W yfea fafdl

(3) HEH wHwE fafy (4)¢ ¢ arr@:rm fafy

Which of the following numbers is written in the standard form ?
i 3 4 - e T w9 4 fereh 7 42

(1) 0.6x10%° (2 83.7x10-% J\(@) | 45x10° (4) a851057

AT |

For which of the following measurements, fTIeconsh'uchon of triangle ABC can be done ?

fr= § 9 fo Aol & fog, ﬁgaABcﬁw%r%f}mm%?
R’
BC = 4 cm

(1) $ZACB = 1209/ABC =123% ACe= BC

(2) AB = 5cm, BC = 6cm, ZABC = 130°, ZBAC = 25°
(3) AB=3cm BC= 4 cm, AC = 7 cm

4) AB=8cm BC = 4 cm, £BCA=90°[£ABC =60°

......

SPACE FOR ROUGH WORK / T %14 & forg e
@)
)
XD

@ g
(L)
% ®

N

21




. nu 'Wrotgf

12<7<9<1)

Identify II:
1) AS

(3)
@)

prr IR
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59. The distance covered (in metres) by a wheel of radius 25 cm in 350 rounds is (use w= %) :
55911 25 cm A qmqﬁqmssoammﬁﬁmﬁns‘@ (iedi #) 2 (m= 372- T ST FHTS0) :
(1) 825 @ 1100 @) 275 @) 550
60. Which of the following represents the most important capabilities of learners to be assessed in
mathematics ?
(a) Ability to use abstractions to percé"i\;é relationships
(b) Ability to memorize all the formulae given in textbook
(c) Ability to apply mathematical concepts to solve problems related to daily life situations
(d) Ability to score full marks in mathematics
Choose the correct option. s
1) B, @and@ @ Bad@) @) @ad© @ @and(d
ﬁnﬁ@aﬁ@wnﬁmﬁaﬁmﬁﬁ@éﬁﬁaﬁm@@m@ﬁﬁaﬁam%?
(a) wﬁﬁmﬁ%ﬁqa@mmaﬁﬁaﬂ%ﬁ &l
(b) Wﬁﬁquﬂﬁ@ﬁmﬁaﬂ%ﬁ &l
(©) %ﬁmaﬁmﬁqﬁfwﬁﬁrﬁmmﬁraﬁmm%mnﬁm FFHRIEH B ST F
Y &Hdl
(d)  TIfor B G e F HTA Pl &
wd fased 94 |
(™
O BORG @O OGS O @FO @ @&
o)
SPACE FOR ROUGH WORK / & & % fote wmie
e
“ﬁ’,’""i“
oy
s
P (WM 23 G
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64. Which of the following statements is correct ?
Sl:

S2 .

r
!

T
he normal temperature of the human body is 37°C.

Heat flows from a body at a higher teipgrature to a body at lower temperature.

S1 is observation and S2 is inference ¢

(1)
(2) Slis inference and 52 is observation
(3)
(4)

Both S1 and S2 are observation
Both S1 and 2 are inferences

ﬁmﬁf@aﬁ_@ FH-T Fo T &2

S1: HFE IR 1 WHRT o 37°C $)

| S2: I I ATH o191 IR | 1 aromm 9t wide 51 3 gate 2t 21

| (1) 1 STEFA (Jew) € qen S2 M 3
(2) S1 TFHM § T2 S2 v (Yamw) 3
(3) S1 3R S2 TF sramET (dew) £
(4) S1 3R S2 3T 31wm ¥

65. While ice melts at 0°C, its temperature :

(1) remains same (2) w*fi:;st decreases and then remains same
(3) increases 4) decreases

& 9% (fem) 0°Cmﬁm%a‘rmw _____

(1) FHMA T@ T (2) %ﬁm%aﬂtﬁRWm%

(3) e (4) wea®

66. Which of the following strategies would support inquiry oriented science teaching ?
(1) Engaging students in floating and smkmgiact]vmes
(2) Explaining the difference between real and apparent weight
(3) Define and explain Archimede’s prmaple
(4) Demonstrating the loss in weight of an obgject when immersed i it
Feferfiga & @ 1 9 WA ST Wﬂ@?ﬂ“ﬁwwmﬁama
(1) Wﬁﬁﬁﬁ@@ﬂﬁmmﬁm(m)m
(3) ot fagi F1 IR T S FT
@) Wﬁgﬁﬁmﬁ;@a@#ﬂﬂﬂﬁﬁmm

25
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Assertion (. .'
Reason (R1)
Reason ";
(1) (A)ist
(2) (A)is tre
() (A)is -
(A) is true a
AfHET (A) :
T (R1) :
e (R2) S T 2
(1) (A) S& &7 Fa1 (R2) 3}
(2) (A) ¥ T R1) ik (RY) o
(3) (A) T T (R1) 3 (Ry) ﬁﬁ"(
@) (A)FETT FAT (R1) F (A) 7} T2

p-10 [RHAIEANBIIIED




70.

74 15

R | T

Y Emmn——

Assertion (A) : Nichrome is used as a

] : ic
heating element in devices like electric toaster and electr
geyser,

Reason (R) :

| Nichrome has high melting point and low resistivity.
(1)  (A)is true and (R) is false

(2) Both (A) and (R) are false
&)

B :
oth (A) and (R) are true and (R) is correct explanation for (A)
(4)

Both (A) and (R) are true but (R) is not correct explanation for (A)

HfwHe (A) TP 1 el ferega-2ree st frepa it S 71 3 A1 e 3 &9 2 2
T (R) : T 1 39 e sl et whrda a2 |

(1)  (A) W& & 90 (R) T ¥

2) (A) 3R (R) 2 o §

(3) (A) 3R (R) I WE ¥ e (R), (A) F T =rEm

)
(4)  (A) IR (R) T & € T (R), (A) F T oM W 2 |

Children of all age groups have various ideas which may: be different from science concepts. Which
of the following statements are true regarding these ideas ?,

(A) These ideas are usually stable _

(B) They are formed due to observable phenomenon - |
(C) They tend to follow similar developmental pattern -."
(D) They are easy to modify |

(E) They are often domain specific

(1) (A), (B), ©) (D) (2 (A) (B), (C), ()
3) (A), (B), (© @) (B, (©), (D)

iy a3 o ) e SO 1 & S 9 SRS 3 o 20 e | e 42

ol 3 it 8 A @ $U W €7
(A) & sromd e feer €1 o i
(B) % e (et ST % AL

(A), (B), (©), (D)
®) (), ®), ©




72.  Assertion (A) : Arteries have thick and elastic walls as compared to veins. .
Reason (R) : The pressure of blood flow in arteries is low as compared to veins.

(1)  (A) is true and (R) is ffallse.

0 are false. _
g; l[Ezotthh Ei; zg :ﬁ; are true and (R) is correct explanation .for (A).
(4) Both (A) and (R) are true but (R) is not correct explanatlon*for (A).
AfWHeT (A): sl = gor & sl 9 sk we fufiat B §)
% (R): et =t qorn & wwfrl & w5 ware %1 @ ww (Frer) 2 2
(1) (A) & & 991 (R) 7Te@ £
(2)  (A) 3R (R) ST 7o ¥
() (A) 3R (R) A W & 7on (R), (A) F) T A B
(4 (A) 3R (R) 3 v & W (R), (A) Y & =T 76 L

73.  Which of the following statements are true ?

(A) Crystallisation is a chemical change.

(B)  Photosynthesis is a chemical change.

(C) Ripening of fruit is a physical change.

(D) Formation of curd from milk is a chemical change.

(1) (B)and (Q) ) (©and @) (3) (A)and (B)
Frefafas 4 3 S wom a3 2

(A) TR (e uw et aied 2

(B) WHRI-TYRIS T THTH e 2

(C) v & T T o Wedq )

(D) 38 ¥ <& o Tk Tarif aRedy

O @O @ Q@ @) (@osk (B)

(4)  (B) and (D)

4) (B) 3R (D)

74.  Whenaray of light enters from med

ium A to medium B, its speed decreases and on further entering
into medium C, its speed increages,

Which of the following conclusions can be drawn from this ?

(1) Refractive index of A and C are less than B

(2) Refractive index of A, B, C cannot be compared from above information
(3) Refractive index of A is more than B and C

(4)  Refractive index of A is less than B but equal to C

ST FHR T O M A § ey g A

SR HH & T IR WA () et R i e
o I W () e 3

gg@ﬁmﬁaﬁaaﬁﬁ@mmﬁmﬁmmm%?
(1) Aafnc%maﬁqialsﬁm%

@ ABC%WﬁWEﬁWaﬁm%wwwﬁﬁwm%
(3) AT ATE B CH s 3
(4) A TTEEH BT E W C

p-r (R -

T T



75,

76.

77

L P-IL |

The b
e buoyant force on an object immersed in liquid acts in :
(1) Al direction

(2) Parallel to liquid surface
(3) Upward direction

(4) Downward direction

7 5 A (Frefiem) fovat e et e v e #
(1) W R4

(3) eTE fem o

(2) T e § T

(4) v feam A

Which of the following statements is/are true regatcﬁng relative reactivity of metals ?
(A) Zinc is more reactive than Iron but less reactive than Aluminium.
(B) Sodium is more reactive than Potassium and Calcium.

(C) Aluminium is more reactive than Magnesium.
(1) (B) and (O) (2) Only (C) (3) (A) and (B) (4) Only (A)
YIgaT Y STfe sfvfwaTier & Gay § frefatad § ¥ =9 91/8 Fu 98 2/%2
(A) 5w (=), de 4 sxfuamﬁqmwﬂa%mmﬁqﬁmaﬂ srfufsramtia €1
(B) wfeam, mmmamm%

) Refufm, Hreifiem & st sffmmiE €1

1) (B3R (©Q (2) = (O) )t.(é)ai’ft(B) @) ¥ (a)

Which of the following have the most scope for promotlng Art integrated b e
(1) Anecdotal records, Journal writing

(2) Journal writing, Field trips

(3) Portfolios, Anecdotal records

(4) Projects, Portfolios
mﬁﬁmwﬁmﬁmﬁaﬁwﬁmﬁmﬁgmﬁmm%?

(1) ST e, S a5

(2) et ored, &y B

(3) i, STEATS yeral 5

(4) e (areEE), dréwiferdl 51

29




Sl
S2 :
G302

1)
(2)
3)
(4)

S1 1R 3 ¥ o
SB@%WSI-

S1 Wél &; 5231‘Rss.
Slaﬂtszqﬁ§mh83 |

T




80. Assertion (A): Achi
Reason (R) : Probie_
(1) (A)is true angd (R) is'f
(2) Both (A) and (R) are £z
(3) Both (A) and (R) are t1
(4) Both (A) and (R) are &
TRAT (A) STEM (%=

T (R) : AH T
(1) (A) TR R (R) Tow B
@) (A) SR (R) 3 TeE@ ¥
@) (A) 3R (R) A W& ¥ 7o

(4) (A) MR (R) WA E @

. Which of the following statements'
dolphins ?
(A) They cannot use dissolved Oxyg
(B) They have gills.
(C) They have large nostrils. :
(D) They often come up to the water sufie
m ®OO @ @60
Frafafad § € FF  F97 = 3R eichid
(A) A feef ifadSA 1 STATT TRl







.

85.

86.

87.

LR | [T

S1- Self Pouil'lfltion can take place only in bisexual flowers.
62 - Cross pollination'can take place only in Unisexual flowers.

(1) Slis true and S2 is false (2) Sl is false and S2 is true
(3) Both SI and S2 are true (4) Both S1 and S2 are false
S1- TR S ffert qodi (et # @ )

52 - R e W qoif () A & WAk |

(1) S19& & qoM 52 77t & (2) Sifer & aen S2 9 ®
(3) S13RS2 3N w ¥

(4) SiaR 52 3 e €

On the basis of the following information ldennfy the substances which give flame on burming

Substance State Vapourises on burn'j'ng
A Solid No
B Liquid Yes
C Solid Yes
D Liquid No
(1) BandC ) CandD @) Aand D 4) AandB
A 3 T sy
B | = (7) &
C 3@ i
D | =& () T
1 B3RC (@ C¥RD Ghe A0 (4) Asks

Which of the following statements is/are true regarding nature of science ?
(A) Scientific ideas are not affected by cultural context.

(B) There is no single scientific method. :‘il
(1) (A) is false and (B) is true 2 Eég: (A) and (B) are false
(3) Both (A) and (B) are true 4) ,(.élbls true and (B) is false

P & & = /@ e Far A AR A T
(A) memﬁmwmqﬁﬁ
(B) aﬁiqmamﬁﬁﬁfu(mﬁ)aﬁﬁl .

pe==—=s

(1) (A)Tem & iR (B) T T @ B B) 3 e 3
() (A) 3t (@) I TEE (4)  (A) TR I () ropq 3
33




tein a test-tube and adds 5 ml of Dilute |
a

i bon
88. (A) Sunita takes 0.5 g of Sodium Car

acid.

d in the abov . - et
Wi cl? hi 5? Ss;esllgleiggsrggfsiﬁs the chemical reactions taking pla
Which of the fo

(1) -(A)- NaHCO, + HCl > NaCl ++Hﬁoo+ coa
(B) - Ca(OH), + CO, - CaC0; HO o
(A) - NaHCO, + HCl > NaCl + Hy 2

i h Lime water.
e reaction throug N and (B)

(2) (B) - CaCO, + H,O + CO, Ca(Hcosl2 ccaj ,

(3) (A)- Na,CO, + 2HCl - 2NaCl + H,0 e
(B) - CaCO, + H,0 + CO, — Ca(HCOy), ()

(4) (A)-NayCO;+ 2HCI — 2NaCl + H,O + CC j_:_;
(B) - Ca(OH), + CO, — CaCO; + H,0

(4% .
: 399 5 fa.ofl. 7 TR

(A) Grten -t (W-W)ﬁo'Smmﬁ?ﬁZﬁ%m =

STt €1
(B) = SR autHa ¥ S FG T & I F A TR T
frrfafaa § ¥ 39 (A) i (B) § & W@ wEmf sifufmanedl 1 fFrefua it g2
(1) (A)- NaHCO, + HCl - NaCl + H,0 + CO,

(B) - Ca(OH), + CO, — CaCO; + H,O
(2) (A)- NaHCO, + HCl - NaCl + H,0 + CO,

(B) - CaCO; + HO + CO, —» Ca(HCO;), %, 3
(3) (A) - Na,CO, + 2HCI - 2NaCl + H,0 + CO,.

(B) - CaCO,4 + H,0 + CO, —» Ca(HCO,), ¢
(4)  (A) - Na,CO, + 2HCI - 2NaCl + H,0 + CO5~

(B) - Ca(OH), + CO, » CaCO, + H,0 .32

Which of the following statements is true ?

(1)  Soil with low water holdin
(2)
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Candidates have to do questions 31 to 90 EITHER from Par

Part - III (Social Studies / Social Science). y
gitemfar @1 w9 31 @ 90 WH?W—H(WHW)WW—IH(WWW“ AT

IMPORTANT | mﬂf :
- I1 (Mathematics and Science) OR from

forTT ) & & 81 Lt e

Directio

PART - 11l / 4TV - "ﬂl Wm,mﬁﬂim

SOCIAL STUDIES / SOCIAL SCIENCE -

n : Answer the following questions by selecting the correct/most appropriate options.

AT ﬁmﬁﬁaﬁﬁ%sﬂ(&#%ﬁqnﬁmﬂ_wﬁmyﬁq:

31. Which of the following statements is/ aré-fccjrrect about planets ?

32,

33.

T

(A) They are lit by the light of the stars.
(B) They are made up of only rocks.
(C) All planets have their moons.

Options :

(1) Only (B) and (C) (2) Al (A), (B) and (O)
(3) Only (A) (4) Only (A) and (B)
TR & an ¥ frefofad § & S/ ORI 862

(A) ITIFTEMATEREEE

(B) 9 efet Fghi 4 T B € | i
() TR TR & o T B L |
(1) e (B) 7 (C) @, (A), (B 7 (C) T

(3) FE(A) - (4)) % (A) 70 (B)

Who among the following worked with leather workers in Central India and also started Satnami

Movement ?
(1) Haridas Thakur (2) UB.Phadke  (3) Jyotirao Phule (4) Ghasidas

frefafag 3 § fFe 96 9Ra § 998 & FM W a1l & .
3 2 g T FH o A W SHide 9 e
1) wemem (2 A wF () R o @) s

What type of winds are Land and Sea breeze ?
(1) Seasonal winds (2) ' Permanent winds
(3) Cyclone (4) Local winds

(1) He T Q) TR vy
(3) =shATd (4) I qoy
35
G



34.

(a)
(b)
(c)
(d)
(1)
(3)

(2)
(®)
(c)
(d)
@)
(3)

35.

Match the following and choose the appropriate opf

A

Punch marked coins

Northern Black polished ware
Amphorae

Arretine ware

(@) - (iv), (b) - (i), (c) - (i), (d) - (i)
(@) - (), (b) - (@), (c) - (i), (d) - (i)

frfeafen =1 e Fifve qon sugw fse #1957 Fifa :

A

Ied faar

ST FA THRIA TS

e |

Qfeq am _

(@) - (iv), (b) - (&), (c) - (i), (d) - (i) -

(8) - @), (b) - (), (¢) - (i), (d) - (iii) ,

According to the Uttaramerur inscription, whgj:ould become a member of a Sabha ?

A @ @), O~ O - ), @) - @)

(e

(3 (@) -(v) (b) =X

Foa kﬁj B

(i) e T THFIR T

) m%mﬁﬁ#aﬁwaﬁg

s:“(f} (@) - (iv), (b) - (i), (c) - (i), (d) - (i)
LY

(A) The owners of land from which land revenue is collected.
(B) They should be between 25 and 70 year%of age.

(C) They should have their own houses,

(D) They should have knowledge of the Vedas '

Options :

(1) Only (A) and (D) ) O?ly (A), (C) and (D)

(3) Only (A) ainins(4) iny (A) and (B)

mm%wwmwﬁqq%m7
m%wmwﬁwmmm

() TR Y 25 3R 70 % " I ew {ﬁ‘;j

©) THTAMRENAME e

(D) 3 3 19 1 <afe N

faenea |

(1) ¥ (A) R (D) (2) ¥ (A), (© k(D)

(3) *4 (A) (@) ¥ (a) 3k (B

o od |1 TT LI it e
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, The most i :
36 most Important factor that influences the distribution of temperature on earth s :

97

(1) * Asphalt of roads

(2) Crowded high rise buildings N

(3  Insolation or Incoming Solar Radiaﬁéz

(4) Seasons 4?;
qﬁtmﬁﬁwﬁﬁmaﬁwﬁamﬁfﬁwm%‘
(1) ITTFRE | TN g i@

(2) S I v -

(3) YA a1 G4 § M arelt faww

(4)

Read the statements (A) and (R) carefully ﬂ%moose the correct option.
(A) : Using resources carefully and giving thes time to get renewed is called resource conservation.

' B
(R) : Balancing the need to use resources aridatso conserve them for the future is called sustainable
development. g

Options :

(1) (A) is true but (R) is false.

(2) (A)is false but (R) is true.

() Both the statements (4) and (R) are rue and (R) explains (4).
Both the statements (A) and (R) are true but (R) does not explain (A).

(4) :
e (A) 7T (R) F & & ¢ TN frfeian % 9 W faeheg 3 .

bBEY

0

: r,w'r
r

I"mr

Nt & 7 (R), (A) T T w3

' 37
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38.  Which one of the following is incorrect ?
(1) In 1883, there was a furore over the attempt by the Government to introduce the Ilbert gy
(2) The dissatisfaction with British rule intensified in-1870s and 1880s.

(3) The Arms Act was passed in 1878, disallowing Indians from possessing arms.
(4) The Vernacular Press Act was passed in 1880, to'support the Government.

frafafad 9 @ =8 @ o & €2 _
(1) 1883 & TR 3 Towrd faret om] e 1 FaA fohan 5 @t St g g
) 1870 31 1880 ¥ wwri o farfew wmra % i ST SR ST Tel ge |

@) 1878 H el weRe Wik fapan ran fwe ST WA BT T R T AR 9
Lol

(4) TR e F & forg 1880 H SRR F9 R Wi fehan T AT

39. Match the following and choose the appropriate option.

A B
(a) Grihapatis (i) Landless Labourers %
(b) Shrenis (i) Independent farmers —
(¢) Adimai (i) Coastal Settlement =
(d) Arikamedu (iv) Craft persons =
1) @-G) G-, Q-.@-0
2) (a) - (i), (b) - (iv), () - (@), (d) - (iii)
3) (@) - (v), (b) - @), (c) - (i), (d) - (i)

4 (a)- @) ) - (i) () - @), (d) - (i)
fpafafea 1 faam Hifse o 39gs fawe 94 ¢

A B
(a) U (@) Y Ao —' \
(c) afeng (i) e Fram il |
(d) g (iv) foreaR
(1) (a) - (i), (b) - (iv), (c) - (ii), (d) - (i)
@ @ - -, ©)- @), @ - i
\\ (3) (a)- (iv), (b) - (i), (c) - (ii), (d) - (ii)
| @ @- G b)- ) ©- ), @- (b

R | [T TV (1T 38




40. Read the statements (A) and (R) considering the art forms in colonial India.
Assertion (A) :

Reason (R) :©  These were creatlvely adapted by Indian artists for local patrons and markets.
Choose the correct option. '

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false. |

(3) Both (A) and (R) are true and (.R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
aﬂuﬁaﬁmmﬁﬁfwmw%mﬁﬁwm)@mﬂﬁ

AR (A) : Siafrafers T & 9 At % 7 wen i, Aol S THAHT F1 G g
T (R) : =3 s e 3 ST T e SR AT % fear § S T v
& fowes 91|

(1) (A)F& ¥ Afe (R) T €

@ (A) R (R) I T

(3) (A)aik(a)aa‘mﬁ%aﬂt(mﬁm)aﬁwm%l

@) (A;am(mama%@rmwﬁtmﬁwﬁm%l

Colonial rule introduced several new art forms, styles and techniques.

41. eohthlc sites are different than Palaeqllthxc sites because of the following :
(i) Mortars and pestles were used fo:: grmdmg grains.
(i) Pots were used for cooking food ™
(iii) Cloth was woven using different kinds of material.
(iv) Use of stone tools began.

Choose the correct option.

‘ (1) (i) and (iv) only (2 (@), (i) and (iv) only
(3) (i) and (ii) only o @) () (i) and (iii) only
{ mﬁammawwmmafmg

@) sirach st s A ST A T ot e
(i) S 7 i @ S 3 T e S |

g v mm— £ L0 R Al

(iv) oo 3 RIS B

| Hilt fored 1 =7 HHfTC
) e (i) 3R (iv) (2)  F9 (i), (i) six ()
(3) FaE (i) S (i) (4) e (i), i) 3 iy

P ATV »




i

!MPUHT‘NT ]
o e grestions i fo 80 ITHER frovey o, ']
alivs / Soeia Science), :

n &9 gr 7 L (L nfonr Wf"i"iﬂ'-‘l,l 7 varay

PART - 111 ) - 1y
SOCIAL STUDIES / SociAL sciencE - AT Snerrgs
! o WG ghitstions by selecting the correct/most i
NS T 0 AT 117w e mﬂ T _.'Jf:‘:‘-a;; _."ﬂm”“"“" Iptioms
: - following g . '
i L : Wing Statemeniy 5/ are correct about planets 7
They are lit by the light of the stars.
i 2y are made up of anly rocks
1 All planets have theiy Moons,

x')ph'lm.- :

1) ""lr 2 ) L z
‘ l\ .1:1, nd () (2) Al (A), (B) and (C)

3 Uy (A)

(3)  Only (A) (4)" "Only (A} and (B)

7d & =it H Frafates 3§ /3 T 8
(A) =R SR A Y ot
(B) @ AT & 9 79 £ 7

(C) ¥4I T F 3193 =7z e 4|
Tamwed ;

(1) &=a (B) 741 (C)

(38) F9%(A)

(2) (), (B) 7o (C) T+t
(4) === (A) 7o (B)
cng the following worked with leather workers in Central India and also started Satnami

pent ?
idas Thakur (2} UGB Phadke  (3) Jyotirao Phule @)
M0 H | R T 4R S 1w S A %W e e e 5 e

Ghasidas

8t =1 7
1) G ELET (2) ‘qﬁ e (3) == ﬁ (4) =wiEE
What type of winds are Land and Sea breeze ?

(1) E-klzlasonal winds (2)' Permanent winds

(3) Cyclone (4)" TLocal winds

o W 1 T, e U TR e A € 2
() TP A

(1) Hiedt gaq !
T 94

@3) =wam @
35
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fhe distribution of temperature on ecarth is 3
tor that influences the db

w buildings

v Incoming Solar Radiation

! —ool T R
# Tareqion =t awiferm = & = AT o

nts (A R th rrect ophion.
Read the staterments (/ ) and { ) carefullv and choose g COTTEC ¥
. ¥ an
5 inl alled resou
(\] u ”‘" Tes0nIce k:areﬁ_]ll\. amj; l‘r!_l"} them time to B et renewe dise Mt‘cnmnm

> future is
(R) : Balancing the need to use resources and also conserve them for the L

development. _=u§‘.

UF‘“”“F‘ H

(1)  (A) is true but (R) is false.

(©) P
(D) They shof
Options :
(1) Only (A) and (DI

(3) Only (A)

FTHAR AITG & SET 79 9

(2) (A) is false but (R} is true.

(3) Both the statements (A) and (R) are trus and (R) explains (A),
(4) Both the

statements (A) and (R) are true but (R) does not explain (A),
AT (A) T (R) F1 »mﬁﬁwﬁqﬁmﬁ%wmiﬁ :
(A) : HEVH 6 Fh I R S S 3 e fom s o, s s et

(R) : HHMHET 7] 3940 % F1 S s ufe= & fom mmﬁmmm}m
o weem

(A) T g 1w STl 4 pzrre o
{'r;} FTE 39 25 3 70 F #ia #F few | | e
() 7% W 31 SR g1 <M (1} (A) ¥ & 5 (R) TR 2
;{:wﬁﬁmmmmv (2)  (A)em ¥ feg (R) 760 3

(1) %= (A) 3R (D) (2) 4 (A), (O) 3K (D) (3) 2 % (A) WA (R) W€ @ (R), (A) = wa
' A 2 , (C) 3
() e a) @ F () 3R @) (4) ?ﬂ'-ﬁam[A]ﬁlk)ﬁﬂgh(m-[h}ﬁammﬂﬁm%l ¥

. G
P-IT | ; ' 37
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39,

ffalad =

(a)
(b)
(<)
(d)
(1)
)
(3)
(4)

: 3 foll{)“—mg e O
i S incorrect 7
Was a furore over
BSaticfacs:
tisfaction Soith Britia s
Ims H = e
5 Act was passed in 1878

7,
b ermacular Precs

TR W T Wi faram ] =}

T wate \\F‘LJUII

Landless 1 abourers
Independent falmers

vdimai Coastal Settlement
Arikamedu (iv) Craft persons
L, fe) - (n) (d) - (i)

(a) - (iii), (b)
v}, (€) - (i), (d) - (iii)

- (iti), (d) - (ii)

(iii)

(a) - i), (b) =
(a) - (iv), (®) - (i), (c)
(i), (b) - (i), (€} - (iv), (d)
sfay e SUYE [AHTT ¢

(a)

=71 fireir @il

B

A
@) Wi A

Auff (i) A FIE
sifed (i) @erd A
SIS (iv) ToeTsR
(@) - (i), (b) - (). () - (i), (d) - ()

(a) - (i), (b) - (i), (© = (@) (d) - (iii)

(a) - (iv), (b) - (i), (©) - (i), (d) - (i)

(a) - (i), (b) - (i) (c) - (iv), (d) - (iii)

prn (AR

41. J
nortars and pestles were used for grinding grains

olonial India.

+les and technigques.

atrons and Tarkets.

¢ forms i«
Aaidering the art !

v forms, St
s for local ¥

nts (A) and (R«

olomial rule intre :
wad DV jan arts
hese were creatively adapted

coprect option
Bt (R) is false.

(A) and (R) are falas

vd (R are true and (R) is the

» but (R) is not the

th (A} ar , porrect pxplanation
of
A) and (R} ar Janation of {A).
e # e e 5 Tt
SArates WA H %% T E e =10, ¥

<% W T 3 A9 e

T T A Tl
o T e e A

e =

() 7 & A (R) TER T
(A) ST (R) =T T €
(A) 9 (R) =l #& £ i (A) F(R) T S

i (R) ST =80 E S (A) = (R) FEET

Fra g1
) L FN &

@ &)

of the following =

\Ieqlithic sites are different than Palaeolithic sites because

()
Pots were used for cooking food.
aterial.

(1)
sy Cloth was woven using different Linds of m
vy Use of stone tools began.
Choose the correct option.
(1) (1) and (iv) only () (), (i) and (iv) only
4y (1), Gi) and (iif) only

3y (1) and () only
"ﬁﬁﬁﬁmwﬁﬁwmwm'mﬂﬁfﬁ%:
4t 3t vy = WA S e ¥ e e e

iy | S

(i) A = W s & e T S
(i) foAfer= R ol v FIL I T 4L
(v) e S e S

we famwed = =5 i |
(1) e (0) #R () @) A (), (1) = (iv)
| : "
(3) FEE () ) @) T (), (i) )

|
p-rr NWAALUN AR 39




propriate aption

nown as the B 5 n
Brahmo Sabha in Caleuiy
L a,

veand unjust
Tast practice:

ves needed to be d

e cone away

ay

cortect explanation of (A)

MTect o i
.l ect explanation of (A).

115 H Ush HEWEm! ST S )

T AT &
T=T B T i e

(A) 37 (R) 21T WaET & HI(A) — Lt
(R) &1 & 3T (A) F1 (R) 981 =EA] TR

(4) (A) HIT == i E (=3 2 e
y HIT (R) &A1 Hel i & (A : r 2 %
A a2l & ol (A) =l (R) HEl © =T HH 1 -
il 142 TEl A R
13 IKeservatio 5 5 (=g Ly Ta ONS
2 ation of seats in leg ati i e I b
= EfLs lation and in Government i[\ 5 was grante 1 by the 1 it
5 e *a by wdian Constitut
. - 10n
(#) Compensate for low ades andd r 5 L= 2
I { OwW gra les and marks scored'in School and University ex 5
k b & L TSIty €3 aminations, becaus

of which people were not able to compete.

(B) ( um}u-nqd!u foor years of historical suppression and educational deprivation
(C) Appease people for pnIi!jl'.if support and rally as vote banks g
Options ; - ;
(1) Both (A) and (C)
(3) Only (A)

st s gro fasnfas o et aar TR
(A) e doft aun wFe w ererfarerTeredt el 8 F ST il wf
&7 4 TE 91
ol & Dfaef gu qe o St % afagie &4

(©) éﬁﬁm%‘mﬁuﬁmmﬂﬂm%ﬁ%mﬁvﬁaﬁwmﬁl
famwea :

(1) (A) v (C) 3
(3) FEE (A)

(2) Both (B) and (C)

(4) Only (B)

SFrarfrl © e 3 T

#q, it 59 | A Wi

(B)
@ (B 3rE© il
(4) ¥ (B)

LI 40

P-IT NN

o Hast ri_-.-apcc\ive\.«_;?
o st and 60 Eas

St e at a0° Wes

s b e witl 1t b

. at Gre .an',x‘l-.:l-_ what B

and ¥ pm

1 5:00 am

i AT
y. and 00 aam
~and 5400 pan. ‘

&0° ofzam A 60" T« 7 Ay HEd T

- {00 FETE B T 2y 7= HATE i

e A1 9:00 ST

o0 TR 5:00 A

e A 9:00 EE

5:00

g:00 TaATE a4 5-00 FTI0ET

)

enit asks you= .
ill be correct for such caleulation ?

4 Social Science class, a stud
7 What answer W

"how can We measure thel ‘

45 while reaching m
petween lun'f‘,'lhldlfF on Equator

Dividing the half length of Equator with 360.

(1)
2y Dividing the double length of Equator with 90.
(3) Dividing the total length of Equator with 180.
with 360.

Dividing the total length of Equator

e H U 2 S A

(&)

FaaAg

I E A CE IR AL ‘fagaa“mmwﬂmﬂ
St T WA € 2 S8 A £t
1360 8 FEpfem &)

(1) o e = ey S

(2) faga @ A
"mﬂﬁ@ﬁﬂwﬁﬂ 180 & fawfem FE0

gﬁiﬂﬁéa‘l%ﬁhqﬁmm1

(3)
Y] ﬁqﬂa%ma‘xaﬂrﬁfﬁwﬁﬁqﬁﬁmmi

et DAV - -




JEGET 9, FEidite B, 50

(4) sra 9@, T e
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Framedt 2

H’J

féreney -

I e A -
(1) de (A), (C) 7491 (D) o
(2) (A}, (B} (C) 791 (D) &A1 T #
(3) AR (A), (B) 9T (C) WE £

4 Sy op -
(4) Fad (B), (C) 740 (D) TJ—[’:I #|

Whi . P 3
(1) ‘ :I::-::‘ rl\,iinu!J" is the correct sequence of roc k'cycle?
(2) fg'nn:nu:'[:- fetamorphic Rock, Sedimentary Rock
@) -LN:L“” .. Rock, Magma, Metamorphic Rock
1entary Rock, Metamorphic Rock, Magma

.t-“ fs:nv-:m.ﬁ- Rock, Metamorphic Rack, Sedimentary Rock
fapeiferfiaa § & Yo == 51 9 wH F= 82 { |
(1) v, @mEtaft A, s A9
(2) @y Y, d, wrEa Ao
(3) svaard e, wrEaRd Ve, H
(4) g ¥, FERRT de, srEwEl A6

T

42

T ] e S |

s aega H afed 5 =
Ll e e
ST 12
11 & srEfn wAdTs i fems F
o

ssprtion (A)::

Leasont (R}

ton

PO pu\;\

v Homor TRLE L .
(&) L,:o.:ﬁ"’.l'\- \'-.?jn‘_"\}‘\!t'l\‘l\
g s e 2 TS
{2) G FAHEN % HE
(& 2%} I == ol
the ~“£‘\"'mi‘1""~“\‘ ot /

ctatemnents and choos® : !
snelting \\.-r‘L'\_h.-L‘l and i MO

craft.of iron

sssertion (A) and Reason (RY
19th century, the

wen /

By the late

furnaces fell into disuse- ak ‘;)q-.\rt\w‘mﬁwm.M 5
s had topay a¥ ery high - ™

Oore

tax W the ¥

The iron smelte
their INCOME.

Sap the correct upl'mn_
(A) is true put (R) is false.
Both (A) and (R) are false.
aoth (A) and (R) are rue

snation of (A).
pation of (A).

and (R) i5 {he correct expl
1 expla

put (R) is not the correc

4y Both (A) and (R) are true
- L e sy
> e v SR el # WiE

iR (A) T T (R) £
afiERa (A) v L  HA T e R =1 Tl A B

e w TR

AT R
i (R) e T T S Faaqrr ) TR S e s unim e R Eniill
H AN
e =)

i (R) o9 £\

il

% 4 (A) 1 (R) T&
i (R) T @ T F &)

1 (AR x
oy (A) FRARY =L T
(A) A (R) 2 T
(R 2 wE & T (A)

e )

4y (A) e
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Wing Statemen ts on
-ment came from non-

non-Brahman MoOvVement
Br

ment argued that the A
ovement came from non-

and chopge the vali
; . o < alid
o ahman castes that hag

Option ;
IVans were

to education,

Only (c) is valid. i
: (2)  Only (b) is valiq,
o Unl_y.(a) and (c) are valid. “4) Only (b) :n\da([c(; are valid
R~y \mwﬁwﬁ#@aw“waﬁﬁmaﬁt%um@w;
(a) agana‘)aqﬁ?—mwﬁmﬁ‘ﬁm E ﬁi&namugammﬁ ot
(b) m%aq%ﬁé:ﬁm%anafﬁmiﬁﬁna‘n
(©) %mﬁ—mmﬁﬁﬁmﬁﬁ%mm@mﬁm
Eepey |

(1) Fa@ () 3y ¥

(2)  F=e (b)qu 2
() T (@) SR (o) dw ¥

@) T34 (b) 3k (o) 3w #
52.  Which of the following statementsiare true about the dev
18t and early 19th century colonised India ?

(@) Indian textile indus
markets.

elopment of cotton industries in the late
try had'to compete with British textiles in the European and American

(b)  British market was now available for Indian textiles,
() Exporting textile goods to England became increasingly difficult. o
(d) Bengal weavers were worst hit as English and European companies stopped buying Indian

textile.
Options : o
(1)  (a) and (b) only c) an \
(3) (a), (c) and (d) only (4) (b), (c) and (d) only

SISREHT Vidrest ¥ ofq T R I=iadl waret F gy ¥ Rty sufay § faeefaa gt et SEHm & Hed
¥ frefafaa 4 § #9 § #9799 2

a)  HRG FTS AT F FNT S st A A ffew Hygn e | woer w6
a .
2) MR F9E F forq ra fafew amsm Sues o1
) m@aﬁa@@sﬁﬁ?ﬁ@ﬂﬁ%m@;ﬁf;j}mmw| el
) WA F AR B g g HE
gg F faani

ﬁqT: {_r: 1 Bﬂz(d)
Fac 2) a4 (9

) ¥R (b) e
gt ((:) (c) ¥R (d) (4) %ad (b), () #(d)

. msider the [ollow’mg Statement,
CIOR

£ cul harv
: 1th Africa a Sy i ion and use of tractors.
[1{} " o fri 1 tivatio d

(Jpli(’ﬂs .

1
((1!)) poth (A) and (R) are g,

G i £ (A)
@) Both (A) and (R) are trye and (R is the correct exphnﬂuon of {

tion.
(A) and (Ry and choose the cOrrect option

: TR R e as the ‘Granaries of ghe world'-

geientific methods of

ssters and combines has my

fo0d. producer. e\
1 -
(A) is true but (R} is g1, e

(4) Both (A) and (R) are true byt Ry is not the correcf'ﬁ?‘a“at;‘;z fm

e T (A) T (R) W for i e vy fore 201 S0

(A) : TS T s 35 3 afy S S oo e
(R) : @ﬁ%mﬁﬁmzﬂ(qwm%wam

= fe 21
b =
1) (&) TR YR T d 3

L

o Eomam »
3) ‘c?Fﬁ{A)M(R)Rﬁt,mm,mﬁnﬁmi;%;%l
(@) 2 (&) T R) T E T R), (A) T EE TS

Which of the following is true about common p:opertg' resources ?
(A) These are owned by government. :
(B) These are owned by private C(?:T\pames.
(C) These are owned by communities.
Options :
(1) Only (8)and (©)
(3) Only (&) and (B)

() Only (&) and ©
@ only B

q@m@mﬁmﬁﬁni%w@@ ij\i
(y wRFES Rt <O
) { o e A ¥ =
© TR e
e @ @O
1 FEIO ) )

@) Faw (A)FE
45



SwWas established by Kada

(2)
: (4}  Rajasthan
BSOS Y e forey o 2

(2) e wRyy

(4) T

mba May 5
Madhya p, fayurasharman 7

radesh

a pers : e re
Rratne plsoas person does not have Tesources and OPportunities ‘that

. i 2
(1) Inequality (2) Dispossession 3) :
TF R 1 G et & ol

Hierarch}r

? (4)  Diversificat;
el et =t % v A ication
gy E | 7 SR ST 2 o = 5
(1) FEHEES (2) siegEEt (3) T & i
58.  World Environment Day is celebrated every y(-'.-a_r: on which one of the following days 7
(1) 5t July (2 5% August (3), 5t May @ st ]ﬁne v
f=feifaa 7 & fia fo7 7% 94 w3t foam oo s 32
(1) 5ar (2) 5T () 57 () 57
59. Maps can be best used for AN,
(1) Studying lives of people living in different times in a logical sequence
(@)

Marking places where people have lived at different points in history
(3) Arranging sequence of events in history

(4) Elaborating on the most important events m history

qfE %1 92t s f § | e fan & g9 87

1) e T T 1@ AT @il % Sad 1 adhea ald d e gl
) mﬁw—wmﬁwﬁaﬁmﬁmﬁﬁﬁﬁﬁﬁ%ﬁ
() 3frera # T # FHAE A ¢
(@) e H wad SRl e ) fgd F €

G
r WWENeERHT 46

a day of NOT-vig),
) &0y
(2) "6 Décembaer 1919 :
(4) 13 April 1919
* T T e 2 srfeas
(1) 15 f{9=R 1919 2 6 ‘F’maﬂf o b ik
‘ i i - s 919
(3) 6 3T 1919 (4) 13 =1e 1910
G e refers to a situation where
available
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b

rhich of the following are correctly matched :)eqcﬂpmm .
: hpi:uihﬂal i 1:,_.;cu¢gd 1o meet the needs of farmer’s owm famaly’
e i < the thickly populated areas
A) Subsistence ) e |
w) [ntensive Subsistence Agriculture - 1;‘:0?& e B B e
- hifting Cultivation
(©) Shifting, ‘
(.'.hooes:‘.;)‘n:;:r:;;l option. (2}_ ALl (A, (B) and (C)
(1) 4©
'[_a,) (A) and (B) (&) (B) an (
o A B FA-R T W gifem €2
el aUiA ! oo R 2
b wﬁwwﬁiﬂ@mﬁmﬁﬁm%\
NG Fa iy T
L;) SR : WWﬁMﬁmmmmi,
f‘)) T F T | o oty T R AR
(C
- Tased & 79 3 i ed pL i
1 WG @ &), ® O
@) (AT (B) @ @O |
o
61. Match the following and choose the correct Option.
A B
: i OCess
(A) Narration charts () steps m a pr o
(B) Relationship charis () datainthe {orl‘;\ o =
SR Yoo
(C) Flow charts (L) historical develop i e
(D) Tabulation charts (iv) show cause-and-effect re

@ (A, BHE, O, O @) (-, @, O 03\&3}
Gy (A, B, O-0 OFE @) A, @@, OG-0, ©)
Froy 1 TTe S S e g -

A B

(&) fr e SEE e

@) e (i) . e % T H 32

(©) T (ai) mm

(D) T (iv) - e N E

M) (A)-Gv), B)-ti), ©O-&) (D)-(.i.) 2)
@) (A)-), B)-v), ©-0 O (4)

(A)-(), (B)-Gs), (O, XD
(A)-(av), (B)-Gi), (©)-), O)-)

P (AR &

B ]



cars of imprisonment along with thousands
4 ands of black and col
d coloureg

il positions in Government
swe vodoe against King and royal.monarchy.

pposing apartheid and struggle-against policies of segregation

to et punishment for offence,

e Waen A Fe % 28 Wd el Svad S e farm
(1) ETEE FOTIR YA FwiE % fe
(2) T SR T & fEETs S EEE ¥ o
(3) R A0 S A s w Aifad & faers il # & v

(4) e fan e @ F faw

63. Read the statements (A) and (B) and choose. the appropriate option.

Statement (A) : Contemporary challenges to the principle

of a democratic society = i
such as those between individual e

rights and social responsibilities.

Statement (B) : Within a social science classroom, conflict resplution a

pproach could be used
engage students to study ‘Problems of democracy’. 5 B

(1) (A) is true but (B) is false. (2)  (A) is false but (B) is true.

(3) Both (A) and (B) are true. (4) Both (A) and (B) are false.
FY (A) S (B) 1 9fe a41 S99 faeca F1 =97 Fifag |

T (A) ; iFditE GAS & fagidl w1 wEEEE At € 98 G atm st 2wt
I g & 4 faar |

&9 (B) : FEIfa famr #a & i, g T THEE] % e A faeeE e e 6
FoeTe THMT ST 1 ¥ fEA S T €

(1) (A) T & AfFA (B) Te@ 2| (2) (A)Tem & A (B) TE &

@) (A) ¥R (B) 2 F@ £ @) (A) &t (B) &l T ¥

P-I1 [RHRIVRTIE o

s ey
i i son agpect of cogritive abilities
the following (questions assess the gvaluat pe

o 3 (v § Indian <
ris the nutrition level of oy
o \ soshan Abhiyanisan im!x\nnnt’ProgrammC‘ 1o Improve
() _.-I\. ATV the statement with evidences. 5, Dﬁ
- = ia with i rersible social change in India, Do
-oloninl rule in India for lwa_.—_enmri-:sf 1eft India with irreversible s g
@ s agree with this statemerit #Explain.
¢ i jana.
Heecribe the important features of Jan Dhan Yojany - :
e 3 + i 1991 India. Justify this statement.
{ poverty and unemployment if India has declined in the post
(©) , -
Options *
and (D)
;y  Only (B), () and () @ Only (Cyand ®
) ' and (C
\ Only (&) and (B) @ Only (a), (B ad ©)
(3 =,

<y A ) SR X2

T AR A =
@mm%mﬁﬁmwﬁm .

fefafEd A

i mmﬁm«mﬁwﬁkﬁm.wﬁwxﬁ%ﬂ e
Y T 1 )
‘ : 3 i = e H oE g
®) ammamﬁﬁmﬁmmaWaﬁmme
Y am m Ta A R e €2 e e
(C) =5 ¥4 1 i T i fﬁﬁ.ﬁﬁfﬁ‘—mmhﬂf:ﬂﬂl e
2 > 5 o = StE H AT
(D) 1%1-$Mﬁwﬁnﬁmm@ﬁﬁmm%n
fa@med :

) (B O 3 ©) @ FORO \

‘ e (C
@) F @) G L@ w50

o} i i t capable of dealing 1
= A belief that science requires a technical mind and girls and women are not cap
65. A belief tha equires 2 u
with technical things signihies ‘
(&) Casteism

(3) Stereotype ;
oy e, A S

@ lgromner

mmﬁaﬁm%ﬁ\%mm

(1) Tliteracy

v s i foem & e T
Frged T e T &, TE A &
. Sleed
'. () fre @) s St i )
G
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n b maac,. More \‘I]Ra}un’,
g

for Sttichorny by
DF facts and g e

e discussion in favey, of lectur, 5,
Tures,
and multimedia FesOuTeE,
R the moss PO i ricy v
W th, S Portant historic: i CVenty 5 i
S anc figurag
% e HinEn & e ey i

(1) ey afr Hlwgr =

a7

=

% S oy o T L
TS 0 iy HE

67.  Indian Constitution lays down

(1) the structure of religious institutions
(2)  norms for Pparticipation of people into social movements thap seek to ch, allen
G the Rational curriculum framework

) the basic laws or rules that have to be

Wmﬁ%m%_

followed by everyone

(1) Fﬁﬁfarﬂfwifaﬁmam

4) ﬁmwmmﬂﬁﬁwwatﬁﬁm@m%:

P-IT (R g 50

- o -the teaching chall
itable to overcome th
he following teaching methods are suit :
o of the fc 5 S
op On

Y > General
i - aeial Sciences ? . Complex to 2y
" 1:-11 ; "._. secific to General (8) From Analysis 1o Synthesis
£ !J\Ll : izmwn to Unknown (D) From -
¥ pom
i

he correct option. ©) (&), B and D)

& ® O "’“d@m@ 8 o TR (B v R £
£ 3 A ¥ o frfeet s farg B 50 TS

"‘q'. ) ﬁaﬁm@m

(A) ° "'. i ) Dy fagerEon 7 HYeA 76
; 7 | AT O L. )

it e A AT "F"Tﬁiﬂl

=1L (D)
(A, (©) # (D) @ (&), (B) 2(
(A), (B) #(©)

( @) () (© D)
)

), (B) and (C)

i ; chieve
s prace in Tndia was to al
sbjective of cstabiishmg Panchayati Raj msutuh.u:\; ;I{L el
@ ) Pasticipatory govemance St
IZ_"\. ! Democratic decentralization (D) Religious Y
Choces the comet cpion and (B) (@) (®)and (©)
L'l.“ -t(_-} and (D) (2) (&) and (C) (3 (&) ! S
f;iq#ﬁw&mﬁwﬁaﬁmmmw_ _3“‘5*"[3( ‘5’_*‘ S
HHEa = - -
(A)  EEITE BRI R (B) wiEHlwEs wEESE (AR
L: - - -
(L‘\ ?ﬁr‘?-:'.l EET ia%‘- T LDH E“ﬁa; fz{fam
e fosed 1 =949 Sty

Q)
@ (© WD) @) W @ @ SR

70.

N wers because i
Small workshops and factories prefer to employ La:tual work
(A) state has already taken care of workers’ benefits

(B) they can be fired without any prior notice
(C) most of them are not literate

(D) they could be paid lowest possible wages

Options : i P
d (D @ @Wand(@. (3) (A)an M

gﬁ%%wmm%mﬁﬁmm%m_ﬁ

(&) wﬁﬁﬁaﬁﬁ%mmm‘@@%

(B) ﬁﬁmﬁ@{éﬁm%mﬁﬁmﬁﬁm%

(© ¥ A sy forfe 7 A ¥

(D) RWWWMWW%

e

O ©3:p @ @WO G
P-IT (AR 51

@@ @ @t



Which, th

2 i e fﬂunwing topics are highly appropriate for middle Jevel students 7
\ ONitriby g :

fibution of Mahatma Gandhi in history.

Economi.
Omic d‘-“’(’-‘lopm:\nl of India.

—

Status of W

omen in present scenario.

) Rea_\'r_ms for Population growth,
3 }ptiuns :

(1) (B), (C) ang (D) only

(2) (A), (C) and (D) only
(3)

(4) (A) and (D) only
Freafafea 3 & ot 2 fams fifem wpe famfvfal & fog sift sogm £2

(A) and (C) only

(&) SMT8 & e s =7 e
(B)  Yra =1 snfef frarg

(©) = wfigys 4 feensii 21 frfi
(D) SHH=A gfg & =

oo -

F94 (B), (C) i (D)
F96 (A) 3 ()

2) (79 (A), (C) 3 (D)
(4) == (A) (D)

“hich of the following is an incorrect statement abott Gram Sabha ?

(1) The Gram Sabha Secretary is responsible for calling the meeting of Gram Sabha and Gram
Panchayat.

(2)  The Gram Sabha Secretary keeps a record of the Gram Sabha meeting proceedings.
(3)

The work of the Gram Panchayat has t6 be approved by the Gram Sabha;
(4)

The Gram Sabha Secretary is an elected person.
AH G % a1 5 5 | F-1 e e

(1) 714 841 % Gied %1 Fm 78 3491 4R 79 6 % 4es 3eon w1 d)

(2) 7H G % FfaF F1 FE a9 99 de%eik 398 g == 7 okl %1 fer e i g
(3) UMM 9HFT % HP H) UH GH1E WFha A ved 2
(4) TE Y1 %1 Gfaa T Faffaq st g g

G
P-11 [[HATmmn e 58

————

i e
1 Bodies \ike BE
; SYerTImeEnia’ o 2
A the gunctioning Qi_‘f_;i provide first-hand and au
sants students to understan llection
her We

Vi QO
Ry Which of the following source of data ¢ ~ A
pan tion 7 o i “
"‘[“m:’:ﬂ'n'f"‘Ph" e H:'e'l.d mp e | s T £ o Pl
@ rewspaper articles (4) . Fi &, =
News
@ crry AT & T BT M e S Este il ﬁ'l: T 2 e
e El;mm 1 H Ty 2 s S A gl
S = 29
et e
@ T 3 .
(1) e Gt | (&) i the na“ﬁ of t\":g
=8 dghves j { the follow
vk sup. Which ©
i 5 into 4 Yroupﬁ A ach Btoup.
A Th ‘-‘. cater an e 55 o 1es - o
g8. sources x": :ﬂ:_mpting first as part of 5E approach e @) o i
e e (2) Engage © 3 i 3% A feen Ry B S
E»an E;WP‘ = 2 'sl?v'i’iﬂq.wﬁﬁmﬁﬁﬂﬁfﬁ% i B T
Pt n 3 * - ¥ :
A 2 ﬁrﬁmﬂm%ammsm. it ea =€ 1
e - L . 0 |
HHE H
7 = : Sy T (&) ISR w5
fae (2) e wE (3)
(1) ?
5 ts !
Soc) aocial values among studen g
How can a Social Studies teacher develop s I
9. e .
; (i) Developing sense of discipline e
(i Behaving in the appropriate mannel: T W
(i) Asking Students to watch commerciak o

W iCV 5 1 s/ school sett'mg
(' } Follo approp:iate democratic alues 1M c\as&,f
™

Choose the coﬂfd OP"‘?’““ (@) Only (i) and (iv) ‘
@ Only @) (“)da‘j'_c_‘](“} @ Only @), (i‘\land (i) i
= &lgl;;%mﬁﬁmm-mwﬁmm
q:: ST B A ﬁma FH : ;
(i) ﬁﬂmﬁwmgmm .
(i) Fora = S £ @ﬁ: mmw =
(iv) TG e A 3T @ =
i e @ T gl
) % (), @) M)

(2)" S (i) AL @)
(@) e @), ) R
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"lewing aspect is considered in the Right o Educatiog ALY 2009 a5 part of evale

with the values enshrined in the Indian Constitution,
amination should invelve mainky summative assessmong
'Pment of the physical nkilities of learners 1o the fullest expany

Examinations are conducted within the school premises
Options

(1) (A)and (B) only
(2} (A) and (C) only
(3)

(Al (B) and (C) only
(4 (A), (C)and (D) only

FfafEs 4 1 firm oy

el 1 iR sfifm, miﬁmmwﬁrﬁﬁ%m%wﬁﬁw
forar e &2 !

(A) ﬂm#&uﬁ#m—aﬁwgaﬂaﬂmﬂm

(B) 81 ¥ g e st ) afefen Tera =t =
(&) ﬁmﬂﬁmﬁmﬁmmﬁmwmﬁm

(D) Wit w5z afte 4 # g

o N

-

() %7 (4) 3% (B) D
~

@) F (A) ol (©) )

@ % (@A), B o) .

(4 F (4), (C) 3 D)
Ll DT



vV e

gead the poem given below and answ

e
Between my

finger ang my thumb
The squat pen rests: SNUg as a gun,

Under my window, a clean rag
When the spade sings into gravelly ground.

My father, digging, I look down
Till his straining rump amon

T the questions (10p . 105) that follow :

Ping sound

g the flowerbeds,

ty years away :
Stooping in rhythm through potato drills,
Where he was digging

| Bends low, comes up twen

The coarse boot nestled on the lug, the shaft
Against the inside knee was levered firmly.

He rooted out tall tops, buried the bright edge deep.
, To scatter new potatoes that we picked,
! Loving their cool hardness in our hands.

100. The poetic devices in line 2 and line 4 are -

(1) simile and alliteration (2) metaphor and simile

(3) metaphor and personification  (4) hyperbole and metaphor

101, S0 loving their cool hardness in our hands’. WHat is the speaker referring to the given line ?
(1) the potatoes (2) thepotato drills
(3) the gun (4) the handles of the spade

102. What is the overall tone of the poem ? |
(1) disgust and animosity (2) no?talgm and adzmratllon
(3) annoyance and anger (4) pitiful and sympathetic

103. Complete the word analogy :
coarse : rough :: snug: 2

(1) lethal (2) comfortable  (3) lazy (4) perfect
104. How does the speaker’s father feel about his son’s. d_\!g)ice of career ?
(1) He is glad his son is not a farmer. , .
t (2) He is ambivalent towards the choice.
' ke it clear. 58
(3) The poem doesn’'t ma _
[ (4) He wishes, his son choose a more practical Béth-
5\
is observing : ;
tanza, the poet 15 O :
2 In the second :5 fields (2) potato growers in the countryside
(1) farmers in the fie A e .
a gardener tending flower beds (4) ather digging poty

toes
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114.

115.

116.

117.

118.

119.

120,

7—

A teacher of ¢l
: 8s VI
th th doe
“t;l : t e text they wouq e Up actiy;
(the story) before she be Tead. She & €tivity to connect their previous know

a
(U o Prediction alin 1© teach the ¢ €T learners to look at the illustratio
ut ext. What does she want her learner

(2) Make them undemtand tl'? r?ading ek

e and experience

led
i the reading text

ns of
s to do ?

(3) Visualize the g e ill

tO ush’aﬁ £ 51
4 Appreci .ry throy h "Tations.\ N
(4) ppreciate the 111115;‘3.aﬁ£1 X the illustratigng -

(1)  Foreign langua

(2)  French is one of the Jan

(3) Study of foreign 1
an ded
(4) Study of foreign lan gt;ages_ as an additional option during the secondary stage-
guages included as one of the languages under the three language formula.

What is the followin ;
g Strategy in the context grammar teaching known as ?
items, enabling them

Introducing lan: . %
to use in regal lifgtt.:)gnet;)t(ismardmnte%ts' making learners notice the language RS
drawing the attention of learner to the form by discoverng it.

(1) Discovery methods 2 : S

(3) Creating a Schema 24; G;E?Eu :nesjtli?:lsmg
Deductive m

\x;flﬁcl'(xgof the fqﬂowing refers to ‘Knowing abgézianguage'?

(1) ramma'hcal knowledge (2) Q.ﬁziegic competence

(3) Declarative knowledge (4) Prfocedural knowledge

Aparna, a learner of class V understands tlmthétenmg involves
.then sentences to get the meaning of the speech or an audio. Whic
in for learning to listen ? LN

(1) Both top-down and bottom-up approach

(2) It is neither top-down nor bottom-up approach

3) Top-down approach

(4) Bottom-up approach

listening to each sound, words,
h approach/ strategy she believes

jobs learn the language of the place. What is this motivation

oy

Many Indians who go abroad for
known as ? Al

(1) Instrumental motivation. oy
(2) It is neither instrumental nor integrative motivation.

(3) Both integrative and instrumental moti\fi n.
(4) Integrative motivation. ¢

‘Authenticity of materials’ refers to: =
> developed in real ].L(Ezggntent.

(1) materials written Or . 4
(2) materials which children br1c1111g frfm;nh e:%%gs
(3) materials written by the tea er for lass. :
(4) materials written of developed by people in authority.
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LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attemp'_xt-_; _ggestions from Part-v (Q. No. 121

have opted for ENGLISH a5’ EANGUAGE-II only -150), if they

1.

121.

122,

123.

124.

P-IT [WRNIERIE A "

£y
Read the passage given below and answer the quéstions (121 - 128) that follow :

Surrounded by verdant forests, natural spfiﬁ@, and blue hills, Netarhat ’

secet, located in the district of Latehar, atgdistance of about 151 kum frop: fhr oo Cest Kept
Ranchi. This quaint hill station brings solace-and gives visitors much-deserved refupl % city of
hustle and bustle of cities. Itis located at an altitude of 3696 feet, al ge from the

: . iy | lowing people t : i
views. Fabulous sm}nses and stunning sunsets leave the visitors awgels)h*uglz g:ggimtgegr:h cent
beauty of this beautiful place, also known as “Queen of Chota Nagpur”, and return refreshelclinaia;

rejuvenated.
With its shimmering waters, sparkling reflections, cool air,
lake offers serenity to its visitors. It is an ideal spot for picnics,

you to go boating as well. Get closer to nature with the most beautiful forests in Jharkhand, and
the pine forests. Netarhat, with its pretty lakes, shady valleys, mountain villages and thick eVQl‘g";reen
forests filled with gorgeous pine trees, provides a panoramic scene to the visitors. The pine forests

surrounded by mists in winter, make any %raveller feel as though they have been transported to

and breathtaking scenery, Netarhat
and the lake's tranquil waters tempt

another world entirely. =

The most well-known location is the SunrisgPgint which offers a spectacular view of the sunrising
that resembles an oil painting. Visitors canpethelp but be struck by the sun’s rays as they emerge
from valleys covered in lush vegetation and cluster of tall trees. The most picturesque view of the
sunrise is visible from Hotel Prabhat Vihar, situated 17 km from Bazaar Haat. Netarhat certainly is

a perfect getaway in the heart of nature. Guésthouses provide cosy accommodations and a heavenly
dining pallete to its visitors.

|

As mentioned in para 1, .

the quaint hill station, Netarhat gives peace and calm to visitors because :
(1) they can enjoy train rides

(2) they can go paragliding from hill tops

(3) they can be away from hectic city life

(4) they can go fishing in the lake waters

IEW"I

F

(1) peace and calm of cities -
(2) busy and noisy cities L2
(3) beauty and eye catching views of citig}
(4)  stunning sights and scenes of cities £+

The phrase ‘hustle and bustle of cities’ MEJ;_ESE:

3

Complete the given word analogy :
gorgeous : beautiful :: tranquil : _2_

(1)  choppy (2) blue-green misty ) pearciol

The Sunrise Point offers visitors a breathtakingj view of :
(1) thesunrise  (2) an oil painting (3) lush vegetation (4) Both (1)and ®)




B . RS

? 125. E:;ad zle folloufing statements :
' : e-etarhat 1S located at 4 height of 3696 feet
| (B) Itis referred to as the ‘Queen of Ch :
(C) Netarhat i : i T
at is blessed with verdant b
0 {3 andrn ; anyan forests,
; (B) are correct, (O)lis incorrect
(2) (A), (B) and (C) are all corn:ggl!;:
(3)  (A) and (C) are correct, (B) s,incorrect
(4) (B) and (C) are correct, (A) is incorrect
W

126. Identify the parts of speech of th%.lﬁder]jned words in the given sentence :

Fabulous sunrises and sl‘urmmg—sdnsets leave the visitors awestruck .
(1) noun, adverb (2) Verl:;,gjadjecﬁve (3) noun, adjective (4) verb, adverb
iy
127. The underlined word in the phrase ‘this quaint hill station brings solace ... implies :

() ?t evokes curiosity (2) it brings peace and comfort
(3) it makes you breathless (4) it makes you visit the place year after year

128. Which one of the following scenic views is not found in Netarhat ?
(1) clusters of tall pine trees (2)  scintillating views of sunrises
(3) refugee camps "%, (4) Dbeautiful sunrises and sunsets

Read the passage given below and answer the questions (129 - 135) that follow :

1. It was Somi’s idea that we meet ii.he pool in ten years time. “When we are men, we must come
back to this place, ten years froi;i}e'{g_:’:day,” he said. “Rusty, at midday on 5 April 1964, we must
return to the pool, no matter whézéwe are, or what we are doing. Promise?” It was a school boy’s
pledge, and made in deadly earnest. As boys, we usually mean the things we say. . And so we
shook hands on it and dived back.into the water.

2.  The pool had been discovered by.me a few months earlier. I remember that it was going to rain...

I could see the rain moving across the foothills, and I could smell it on the breeze. But instead of

turning homewards, 1 pushed my way through the leaves and brambles that grew across the

forest path. I had heard the murmur of water and I wanted to see and touch it. Sliding down the
rockface into a small ravine, I found a stream running over a bed of shingle. Water trickled down
from the hillside, from amongst ferns and grasses and wild primroses. The rocks beside the stream
were smooth, and some of them were grey and some yellow. A small waterfall came down the

. rocks and formed a deep pool of apple-green water.

‘When I saw the pool, I ran back te town to tell the others. Anil and Somi were my closest friends.
Anil lived in a crowded lane of the Dilaram Bazaar. He was wild and a little dangerous, subject to

‘moods and impulses. Somi was Séﬁ?itive and gentle in his ways, but common with Anil he had a

. sense of fun and an instinct for ad@imtme. The pool was my own discovery, and I was proud of it.

“We'll call it Rusty pool”, said Somiy

‘.. ...apledge made in deadly darnest’ implies :

- a promise in complete seriousiiess

a promise not to be kept  {'¢
- being suspicious about-soﬁfs intention
to wish for the death of someone '

71
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130.

131.

132.

133.

134.

135.

136.

137.

P-I1

Identify the parts of speech of the underlined words in the given sentence :

‘He was wild and a little dangerous, subject to moods and impulses’.

(1) adverb, noun (2)  adjective, noun
(3) adverb, adjective (4) aci]egﬂ!ve, adjective
Which word can be the nearest synonym for thé\éfﬁrd ‘instinct’ ?

= g

(1) inclination (2) hatred (3) ~affinity (4) premonition

Complete the word analogy given below :
crowded : deserted :: vigour: _?2

(1) weakness (2) lethargy (3) %’ileaviness (4) strength

What brought the three boys together ?
(1) their childhood mischiefs (2) their spirit of adventure
(3) their swimming talents (4) their earnest attitudes

Which one of the following options does not deég:ibe the pool in the stream ?
(1) apple-green colour of the water ('2) w@f_éﬁ trickling among fern and grasses
(3) rough rocks on the bed (4) m’fgfgi‘ng waterfall down the rocks

Who among the three friends proposed the ideaiifineeﬁng at the pool ten years hence ?

(1) Rusty (2) Somi and Rusty
(3) Anil (4) Somi-

=E

Which of the following is TRUE of the study of classical language as advocated by National Education

Policy (NEP) 2020 ?

(1) Study of classical language during the preparatory stage.

(2) Study of classical language as a core language at the secondary stage.

(8) Study of classical language as an additional option during secondary stage.

(4) Study of classical language as an option under three language formula.
i

What are the stages involved in designing and @@irig a Project Work in language classroom ?
(1) Forming groups, identifying the topic, planning, collection of data, writing the draft,

interpretation of data, and finalization of thereport.

Teacher and learners can design and do tlié___:,_garoject work any way they want to.

(3) Forming groups, planning, collection of;fd;tta, interpretation of data, writing the draft,

identifying the topic, and finalization of t%iie_;_;rgport.

(4) Forming groups, identifying the topic, pfﬁnﬁng, collection of data, interpretation of dat?

writing the draft and finalization of the report.

LT L 72
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138.

139.

140.

141.

143.

. What is the status given to the English la

144.

:

anderstanding of power

A teacher of class VII wants her learners to read the short text with an the teacher aim to

and identity of the people and community presented in the text. WhaLERE
promote among learners ?

(1)  Analytical reading E(‘.’.)rj Literary skills ' I
(3) Language literacy (4) Critical literacy |

Which of the following is NOT true of laguage ?

(1) Language contributes to the sum ijiuman knowledge

(2) Some languages can only convey lsla;nce and engineering better
(3) Language expresses identity U_
(4) Language is a repository of histor:y

Learner understands and applies that language works as a system.
(1)  Sociolinguistic competence (2) Strategic competence

(3) Communicative competence (4) Systemic competence

A test which aims to identify an individizal student’s specific areas of weakness and strength is
known as : o .

(1) Diagnostic test (2) Formative test (3) Objective test  (4) Validity test

guage in the Indian Constitution ?
_ Language of statutory bodies
(3) Official language (4)  Associate Official language

(1) Foreign language (2 ;

A teacher of Class VII wanted to give a writing task of writing a description of a person. She went
out of the classroom and brought a Hawker to her classroom with his basket. She requested him to
be there for about seven minutes and then asked her learners to work in pair and write a description

of the person.
What do you think the hawker in this activity known as ?

(1) A participant in the activity (2) Materials

(3) Teaching Assistant {44) A Hawker
Top-down approach to listening mvolvé:{i}

(1) Listening to overall message of the ext, speech or the audio.

'(2) Listening to each sound, words, phrases, clauses and sentences,

(3) Paying attention to the specific details.
4) Listening to the gist of the speech, text or the audio.

R 73 "
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145. Aditi knows the rules of past perfect tense. But can’t use in a context. What knowledge does she
possess ?

(1) Declarative knowledge (2) Application. of knowledge

(3) Language acquisition device (4) Proceduz‘éii.‘%.nowledge

146. Kripa and Karan are twins and speak a p?rticular dlal?c:l of Manipuri. However they differ i
their speech, What is their individual special way of speaking the dialect known as ?

(1) Speech act (2) Manipuri (3) Idmlect (4) Dialect

147. Ashwin knows Odia from his birth and he studies English and Hindi. Based on this statement, find
which of the following statement is NOT true ?

(1) His English learning is language learning, |
(2) His English learning is language acquisition.
(3) His Odia learning is language acquisition.
(4) His Hindi learning is language learning.

148. Subash, a teacher of class VIII regrets, “Language asses;EifaTEZnt generally does not give importance
to receptive skills.” What does he mean by ‘receptive skills*?
'S

(1) Listening and reading (2) Speaking and writing
(3) Listening and writing (4) Speaking.and reading

149. Here is a text. Read and find out which language register does the text belong to ?

Suddenly, after the revolution, it seemed possible to change this. In many parts of the world
including Europe and Asia, new ideas about individual rights and who controlled social power
began to be discussed. In India, Raja Rammohan Roy and Derozio talked of the significance of the
French Revolution. The developments in the colonies, in turn, reshaped these ideas of societal

change.
(1) Social Science register (2)  Revolution register
(3) Science register (4)  Political register

Wy
L8 B

150.

i

LT
-

Instrumental motivation is when :

(1) person learns the language for their conmmﬁtié&?zaigious and social functions.
() aperson learns the language for writing a book. b i

| et
(3) a person learns the language for utilitarian reasor?],i{f employment.

(4) a person learns the language for being closer to the native speakers of the language.
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